
SOUSTAVY OBYČEJNÝCH
DIFERENCIÁLNÍCH ROVNIC

EULEROVA METODA

ŘEŠENÉ PŘÍKLADY

1.
x′ = 2x − y
y′ = 4x − 3y

x(0) = 1
y(0) = −5

2.
x′ = −2x + y
y′ = −2x + y

x(0) = 3
y(0) = 7

3.
x′ = x − 5y
y′ = x − y

x(0) = 3
y(0) = 1

4.
x′ = 4x − y
y′ = 18x − 2y

x(0) = 3
y(0) = 6

5.
x′ = −x − y
y′ = 9x + 5y

x(0) = 2
y(0) = −1

6.
x′ = 3x − y
y′ = 4 − y

x(0) = 3
y(0) = 1

7.
x′ = 4x − 5y + z
y′ = x − z
z′ = y − z

8.
x′ = x + y + z
y′ = 2y + z
z′ = z

9.
x′ = 2x
y′ = y − z
z′ = 2y − z
























